'Total No of prmted pages =6
- 6312 (SEM-l) MCA14.

2021
(held in 2022)
~ MCA-
 (Theory Paper)
Paper Code : MCA-14
(Operating S‘ystems)‘
 Ful Marks — 75
Time — Three hours

The ﬁgures in the margln mdlcate full marks
for the questlons

Answer qll questlpns.
1. When does a page fault occur? - .
(a) Page is presenit in frame ‘
(b) When dead lock occurs -
| fc) Page is not present in frame -

(d) Context switch
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2. Which of the followmg is not a CPU scheduhng |

_'algonthm - 1
(@ Round Robm (b) Priority
(c) SIF (d) SCAN

Aﬁer completlon of 1/O operatlon the process'.

switches to state. . | 1
@ New ~ (®) Ready
©) Runmng (d), Waiting

The, deadlock avmdance algonthm dynammally
examines the to ensure that circular wait
never occurs. | 1

(a) ~ Operating system
(b) Resources
(c) Process

(d) Resource Allocation State

What is meant by booking? . . 9
(a) Install a program o

(b) To scan

(c) To shut down

(d) Starting the computer.
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. Answer all questlons

Deﬁne multitasking. = - - 2 |
What is dispatch latency ? - 2
~ Define context switch. '. . 2

~ What does CPU vscheduvler do 72
. What is process scheduling ? -2

Answer any four questions :

1.
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Define process. Consider the following set of

- processes with their arrival time and length of the

CPU burst in milliseconds. 142+2+2=7
Process Arrival Time Burst Time
B 0 6
P, 1 4
P, 2 2
D, 3 1
ps 4 8

(i) Draw two Gantt charts to illustrate the
execution of these processes using FCFS ang
SJF (preemptive) schgduling algorithms,

(i) Find the waiting time of each process for
each of the algorithms in question (i).
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(iii) Find the turnarround time of each process for
each of the scheduling algorithms.

12. What is a page fault ? Apply first In First Out,
Optimal ‘and Least Recently Used page _repiacel
ment algorithms to the following reference string
and find out the number of page faults occured in
each of the algorithms using 3 page frames -

12345341678789542. |16,

13. What is seek time in disk spheduliﬁg ? A disk drive

h‘a§ 400 cylinders, numbered from 0 to 399 the
drive head is currently serving request at 14. The .

list of pending requests are

total cylinders that

the disk arm moves to satisfy a]l pending requests

by using : _

() FCFS disk scheduling
(i) SSTF disk scheduling
(iif) SCAN disk scheduling,

14. What is turnaround time 9 Explain Critical section

problem and the requirements fop its solution

' _‘ | 1+6=7
15. Explain the safety algorithm ang
: ! resou
algorithm Steps in Bankers algorj .rce t;ef;:?
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| 16. Define file attributes and the basic operations th

at

. A q
can be applied to a file.-

Answer any two questions:

‘1“7. Explain wait for graph. Consider the following
snapshot of a system : ‘ S

Processes | Allocation | Max Av?,ilable
. ABCD | ABCD | ABCD
P, 0»01".2 0012 1520
P, 1000 [1750
P, 1354 |235 ,6
P, 0632 (0652
Ps. 0014 0 6 56 |
Where A, B, C, D are different resource types -
Answer the following questions “S;I_‘i 31“;‘:’1,8

algorithm : ,
- (i) 'What is the content of the matrix need ?

(i) Find the safe sequence if the system is safe.

P, arrives for (0, 4, 2, 0)

(iii) If a request from ed immediately.

can the request be grant
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18.. Explain how deadlock can be recovered. _lb

19. '. Diécuss safe state. How a deadlock can be avbidéd :
using resource-allocation graph? =~ - - 10
- Answer any one q{xestioh :

20, Describe diemandpaging and its basic concepts.
' ' ‘ 12

21. Describe how deadlock can arise and how it can
. be prevented. 12

48/63/2(SEM-1)MCA 1.4 6) ' 100




